1. Determine which sequences converge.
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2. Evaluate Z ;:L
n=0

A. T and II converge, III diverges.
B. I converges, 1I and III diverge.
@I and III converge, II diverges.
D. III converges, I and II diverge.
E. IT and III converge, I diverges.
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3. For a series E an of positive terms, which statements are true.

n=1
[. If lim n2a, = L, where L # 0, 00, the series converges. @I
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II. If lim s L, where L # 0,00, the series converges. B. I, II, IIL
n—oo en
i G L IV,
ML If lim —t = L, where L # 0,00, the series converges.
n—oo G D. I, IIIL.
IV. If lim a, = 0, the series converges. E. I, I, II1, TV.
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4. Determine which series converge.

A. T and II converge, III diverges.
@I converges, II and IIT diverge.
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n E. IT and III converge, I diverges.

C. I and III converge, II diverges.
D. IIT converges, I and II diverge.
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5. For what values of p does Z
n=1
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7. B8 = Z (=)™ —-n—, find the smallest N such that we can be sure that
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n=1
ISy — S| < {5, where Sy is the Nth partial sum.
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8. For the series Z n23 , let L = ILm @nt1 | Which statement below is true?
n n— oo Ay,
n=1
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A L= 3 and the series converges.
L | o] it e
"> 5 Am / B. L= 3 and the series diverges.
MZ (rH) H N . L= % and the series converges.
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A A4S o -
3 I =32 P4t >



©0 n
9. Find the interval of convergence for Z (=" L
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10. Find the 'ggwér/ series representation of f(z) = 514 T
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11. Which statement about the series Z —————— 18 true?
— n3 41
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A. It diverges, by using the Limit Comparison Test with E =y
n
n=1

1
@ It converges, by using the Limit Comparison Test with Z —s
n

C. It converges by the Ratio Test.
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D. It diverges by using the Comparison Test with g .
n

=1

E. Tt converges by the Alternating Series Test.
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12. Find the power series representation of — _ , centered at 0.
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